.............

i Q) ﬁ
B Y TRATECIREC EN
........... J 1 1 \/ J1L psa eee N B
""""""" //41 \_ ) i
HIRD GRADE
/////////
\RADE STANI
’ /7

........




ROUNDING TO NEAREST 10 AND 100

(TO'THE NEAREST HUNDRED)

(To THE NEAREST TEN) |
Number : 54

Hill Strovtegcj

 Rounds 55 - Mid point
o 50 -

S0 (O

T4 the number 15 4o the left of the
Midpoint , lcave it alone. If it is fo the
I‘iaH’. go up.

number : o2
Hill  Strategy

Round § +o H50

“oo

Swm

500

'Spo'l'\igm' Strotegy
& Spetlight
Place — = Rounds to
Value \ 50

D 1o
Find place value & underline
Circle the number 1o +he right

0

@

@ T number is 4 or less \eave
it alone . I€ 5 or higher, qo up.

Spofhah‘\' Si-m-f eqy

Spoﬂ gt
Place H@i

alue
"7\
400

Rounds up o 500



ADDITION WITHIN 1,000

equation: 328 +1297 =

Expanded Form:
N Place Value:

addgg%'LB 300+ 20+ 8 228 7 addends
+'297]| 200 +qp + 1 + 29| ; s
Y 500 H (Hundreds
suw—70o1.5] 500 e 3= LV O T (Tensd
500&{10 5 _1 9] oloned)
600 10 5 blb &—— sum

addends < OQpen Number Line :
%_)qu 625 < " Add the yumes:

. |00 +lop = 000 297
e e tgaet fo (Derko) ¥ 7 3s 7 0_ i
i - nuilion +2V Z fe cndlq NuMbper S =. 7

2NN X v _aRow X0 + 100V =+IcoVv -ozo.//_i\/
N\ 318 330T 350 400 500 600 620 (;\25

um
qume SUM



SUBTRACTION WITHIN 1,000

\ Oper\ Number Line 313-367
So\\/e, bﬂ “addin wp +0 Sub‘érac_z’) 455
Q:i*‘3 ¥30__H00 o +2)3—> 40 3671+ [446]-8/3
267 310 00 200 g0 3 £l

| 4 &) missing addend.

4 0 ’
=y
213-50b71+ é—-di?-?erencé ?‘Z\)g: )

E\F pomded Form)

312 = 988 +18+13
_367: %00+ O+ T
’ "LH(‘,;{&_OO+ L_yo-ré

Get Friendly;

Sta S;rieru)u
'H\ . fhe Le_




MULTIPLICATION

~7x8"56 8 (Repedlel Aoy

NT NN -
[4) [ = =

TRARONEFEST A

X oo * The first < 7 %D — The second factor tell you what
sldo0 ‘F:vdr-l: C‘MU the addend is
2lst oo™ ©+8:8+8+8+8+ 856
o 4 31 4o 49

Shordcut for
lavaer factors

g g =
e B “ xg =
&24 30\4 lgnowy EQM\I Growps 7 8

! %t 3‘1- '+o 7 The 4ofal number
‘ nside each guaup
7 M.i g is +he product
49 ‘56
=

The product of 7x8 is 56.



[ N NN o009

g oe0 X FE N : : -

BEK: s5l40 " — — S I S .

2| (b olue CJuwn | [u ] [uﬂ }mj[u—n ENEEEN

3|24 715 L) e ) e ) ol g ) TAs like

4132 | 2| (W P2 |20 |35 _deahng.c_m,lI

540 Shordcut for Clunt wt wl 'T ™ | 171

Ll4e :Cowgev -fcto'tﬁ;s... Lol i 1 )\

7156 ind a triendl |
fach you ko, 42 48 gse N 7 Eachgroup gets 7.

D:rliderd: <"n+56 - 8 =2 Divisor: amount 4o be sobtracted Yepededly
Total amev

0 5, ®yp 940 &, 9,, 9, O

- & - - 9% -9 -9 -9 -¢

Repeated Subtvaction 4 40 31 14 (6 @ o0

Yovr quotient will be the nuwber of imes you
subtvacked @ from 56 +o reach O. 56+8= /

a—




P\epres &rtt‘ dng o Fra-c:/:'tom Tn
Multiple Ways

FRACTIONS

Ccm\pow‘t a Fractions

TN Lz 3
7> 3 L S

% ..O _—%__4,_%_:_;_-_ ) El E"\
1900000 it T

st |
oy cctuLVQ\ef\ ‘.
< nuwmerator 6 /2— Fraction

2.
3 <denominator w/[\ho le, @ @ @

Numotx”




Formwla :

A=L*xW

Area = The number of
square units that
covers a shape or
figure.

Square Unit = A unit
of measurement that
determines the area
of a figure (14
squared feet or 14 ft2)

Tiling = When you fit
individual tiles
together with no
gaps of overlaps to
fill a space

)

AREA

(w)
5 Count +he boxes/units !
10
5 Arca= |6 square unifs
o Aspaxw
2in Az2x7
7 in. A= l4in.z

Solve for L'
The area of +his

o f+.

\Find the area!
2x2:= 4 -

TR

L A=LxXW or AW
rectangle is 32 sq.ﬂv. = 32=0Lx9 329
32: 4x9 32 9

The l(en

L T

Add up all

of the Hiles.

? \_/’ q:a:zol
®+4= 12
A= 12 u?

Multiply the length Himes width
A= L xw
A= 3x5
A= 15 square units

gth (L) is

R. Notice +he L is
NoT Squared.

S

o
A= 734241
N
>

A= 5t5
A= 10 unit§ squared



PERIMETER

o Aimber
D* of sides
Qx4 = 32
‘ ~ Add wp S+ 5+4
Sin. in.all i v If an object @ + 8*‘3*‘6
Sides | 0 +4=|Y4 isas uare W W
4in. P all sidés are (0 + 1o =32
Perimeter = The =1t n. 3 #+. ,ﬁroggez’eﬁg“ P= 32 K.
sum of the lengths eqv\a,l.
of the sides of a
shape.
: ~ g £ 15k 15m Add the known
Perimeter = . v Congruen‘f sides sides and k-l—hen
L+ WalaW l : are “equal. Therefore,| 15m Svbtvact from +total
All SideS are Known 25m perimeder 4o find
? 5 £k in +his example. (4 +he unknown Side.
|&5+16+4 25 + 256
7+t C+7 +5+7 i N N 5
20 4+ 60 = %0
W P: qgm | —
0 + |4 =24 as-%o = [1g)
rs
P=24 {+. ?

go+ i8] = 95




ELAPSED TIME

M Ssmﬂ end hie Missin3 duration M]Ssing start +ime
TS5 7 Un I5M 223" 7 &5l LR g
~ Mountains, Hillg, Pbbles Zoom T- Chact
Shaas1223 |12:45 S! & | Bour  Min
£ > D=<bh 28n ia e B
S , | Eod 1, 15 | "5
cioct @ 5"5 bysL—lem .5 2, | D12 ; llg)‘ “In
D=l -Dh lom




GRAPHS

Iypes of Books Read

Lad
5 4 =]

il 2T XY

=]

(=

111 ], [Cleeeessss

= Ln

Number of Books Reaxd
(=] ; Fad  Pd

Monfiction Biography  Fiction Mystery  Fairytale  Fantasy

Pictograph
Bar graph A type of graph that uses symbols and pictures to
A Graph drawn using rectangular bars to show represent data
how large each value is Objects on My Desk
x X x
X s X x
Scale = A series of TR S SRS N SESS . A key is used to
numbers placed at % L ke In dn s 2 identify the number of
fi?(ed, or equa|, .llc’n.s‘u.rpnwms in Inches categories present n a
distances. Line Plot graph. It is also called

Line plots who data on a number line

a legend.

with an x or other marks to show
frequency




|
Solve the following word problem using the RACE strategy!

W 0 R D - Standard: OA3 Uses strategies fo solve multiplication word problems.'
- St E e Rl s g T g AR R

PROBLEMS : How many parking

(RACE) \,\" Read the Problem

e e g et by e s e S e e b oy B gl ow i s Circle important

cAnswer oentence: ¢ info
Answer Sentence ; . &TE *myfpofg « Underline the

o Write an equUAation | A i isomitinassineaniiianseiommvesansianenessssuedsssance mbartlsisintsnsosadasasasepsnstosnmsrsmenmmmnmmnel question
(numbers) A ol T e R Y S T i S _I - Eliminate

* Restate question | extraneous info
(words) B e s i i i NS 8 J

7--.,._ :
/;/ Choose a Strategy
i e : * Show all of your
Explain your answer . 4 1 ¥ ' & ) | work
«  What | know (facts & I ' - I
operation) (R) 1:—:— ................... .‘/._ ...........
. What! did (strategy) s T s Theie o 7 7075 555
(C) Lihmadng] ,W/”(SR and there creb blocks. I Kney
« What | found (answer /:/(/)./Wy\lwp(y 2TLAUIE VLY Fime q%’mclld Ve threre a g
question & summarize (O ZAGE W\c\ya I\{' [ ad i glT u (gua (e
| goups. T £icst Storted wyiheciicle. 6///)47 2 | |
(A) i \ 4 ] \// v’;'*’-,:— ;,{ | g(‘ 25 7\ Sy
cachan ;zz,vﬂt’f} AL, AY 2 T(f(’:



